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Module 5: Sign (Binomial) test 
 

The Sign (Binomial) test requires as part of its calculation the number of observations that are 

both smaller and bigger than the median under the null hypothesis; ties are excluded. 

  

The SPSS command however does not automatically exclude any ties for you, so the first part 

of the analysis is to do that. 

 

Data > Select Cases and then select the radio button   If condition is satisfied. Now click the 

If button below this and enter the condition that selects only those values not equal (~= in 

SPSS syntax) to the median under the null hypothesis. 

 

 
 

Select Continue 
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The Select Cases dialogue box should now look like this: 

 

 
 

Select OK 
 

Any ties in the data set will now be excluded; we can see in our data set that the 16
th

 

observation has been excluded as it has a value of 450 litres per day.  

 
 

Note to reuse the full data set again repeat the above procedure but select Reset. 
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The test is now performed by choosing Analyze > Nonparametric Tests > One-Sample and 

complete the dialog boxes as shown below. 

From the Objective tab Select Customize analysis 

 

 

In the Fields tab move our variable of interest into Test Fields 
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In the Settings tab tick Compare observed binary probability to hypothesized (Binomial 

test) 

 

 

Select Options and change the Cut point to the median under the null hypothesis 
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After selecting OK and then Run the following is the only immediate output.  

 
From the above we see that the p-value is less than 0.05 thus we reject �� in favour of  �� 

which indicates that the median water usage is not 450 litres per day.  

 

To get more you have to double click on the above in the SPSS Output window. This opens 

the Model Viewer window which is an interactive tool for displaying the available model 

views and editing the look of the model views.   
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The output in the right hand panel gives us more information on the test. The left hand panel 

is referred to as the Main view whilst the right hand panel is referred to as the Auxiliary view.  

 

Edit > Copy Main View or Edit > Copy Auxiliary View if you want to paste them into say 

a Word document.  
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